CDF DO ATLAS CMS
3 5 2 g i <8 L ]38 L 2
5 3 = S 3 3 4 3 X 3 =
I+jets 1.00
CDF di-/ 0.49 1.00
alljets || 0.28 0.25 1.00
E%‘i“ 0.31 027 0.17 1.00
DO I+jets 0.29 0.09 0.16 0.18 | 1.00
di-/ 0.15 0.07 0.10 0.11 | 0.38 1.00
ATLAS l-f-jets 0.17 0.07 0.10 0.12 | 0.17 0.11 | 1.00
di-/ 0.30 0.12 0.17 0.19 | 0.24 0.15 | 0.64 1.00
I+jets 023 0.12 0.15 0.16 | 0.21 0.16 | 0.24 0.34 | 1.00
CMS  (i- 0.09 0.05 005 0.08 | 0.08 007|016 024 | 0.64 1.00
alljets || 0.15 0.06 0.09 0.10 | 0.13 0.08 | 0.15 0.23 | 0.57 0.75 1.00




